Code No. 22

Total No. of Questions : 41 ] [ Total No. of Printed Pages : 8

March, 2008
ECONOMICS

( Kannada and English Versions )

Time : 3 Hours 15 Minutes ] [ Max. Marks : 100

( Kannada Version )

Zoussnes 1 1) BBNE =023,09, KON B0, 23T0W0.

i) B BN 28,0 AC08TaNTLIEB.
Il o el
[ 8 3NT IZ NN F803e0TBR, OB 78,36 w030 ¢ 10 x 1 =10

1) AR oRFH (922308 eRIFQ) ) BOTQROD BFFRT, 94
2) QAVTRLNT OFERTY, S9A.

3) QORI 3 eTETO 3ReIINSOTTERD ?

4) Ty Berars FIoDBORNTY 9,270, A

5) 0% 30Oe3T0 0TTERD 7

6) B.S.N.L. 33 Q% 0A.

7) ADTI0T FROTZ,T[Y SPA.

8)  QTIEd QAT ROTHT Q0TI ?

9) FOTERAT ToVT VFFETY PR,

10) Togy,ec3 c3peTe o3Rent B8NS ©53,8,00 0350 7

[ Turn over



Code No. 22 2

T — W

I 8 ENIYNEE), BRYTTTL I, BB,ER TE0IR0TER, T, HE,NLE. Y08
: 10 x 2 = 20

11) SRGE08 T3,03NL0TTR 7 &TT TR TRONLTY, BRAOA.

12) #98,030 G080 OFR, 89, 88y 993N Wit Ien ?

13) LRITF[BL0ME Tow), BOBUTINTY, S9A.

14) FRFRIT OITHe BG & NOTTED 7 BT TR BRERANTTY, S9A.
15) 30352080 3ma03ned e FroddneNod mert NS ?

16) SNcH 3RO 3B, Fz 3RO0N TENT TSUANTY S9A.

17) mRREE PO SPERIY, 893 GRWIE0R S0E mEREE  FHI
Ry, B0

18) 7033 BRND LOFHNTRY, [ed, IRG.
19) BT BRCEH, TB), 33 BT [RONBL, FTRAT F,ZT9,ANGIY, 894
20) TI08E 25030 FONONE T FTITVALY, 894,

21) QB 9,700 FOFHIRVO TN, YVT3 eBNYTY, LITCAW0.

22) ROT0D 2398 QOTTER 7 VT3 DTTW ST0INTTY BAOA.

Won - &

. 8 SSNSYNLE, GRYTTL S IFAeR Feodeossn, TOIJMD DNLS,
PB0% : 8 x 5 = 40

23) R0 TeodBm QENERY, 89R. YR BeedTim TT2,03MYRy WA 3,083
Teaooed8assy, Ty ¢

ne03 SFe 1951 | 1961 | 1971 | 1981 | 1991 | 2001

BT 3 117 142 177 216 278 324




IvV.

24)

25)

206)

27)

28)

29)

30)

31)

32)

33)

34)

3 Code No. 22

SRES BIRER DB, SHFEPTH 0D IWAT 3,39, ZMT, B9R.
TICBRE T 738 M<OFIT WRR0T, OB s, £33 65 LaTOWD.
250 R008,B0D VFERIY, YA, OT0 QG FINETY, IR0
038 3030, SYRBRINCIT RN ~FPTE 0BTy, Tede 4.

FANET AFIOBNRTOTTERD 7 23e Tody, 0 FaerE SO3RENT DFITAYNTRY,

&R,

PITBRE S T ToNFTT TITIWT-SHRET ) SNBONTY, B[OSDA.
YROBTTONE 0T TRONSTY 0F .

¢TI08T 530030 99, TT0C RO03ReeR03 rf L3R

%5908 RForT BRe0RTNE TF), Y0305 SRNTsy, &9A.

30620 288 ROTTERD 7 FREDEC VOO AGTITBNS 273, 233,63 20TCND.

0023, O3RLZTD WIOTYOI TR 3B, FTIORENETY, S9A.

won - &

8 IWNTIYNSY, BRRETL ABR JFRR FR03e0TER, IOR, BT,
QB0Y : 2 x 10 = 20

35)

36)

37)

38)

0BG, BN B, I, WEIT JTORMA  FRE0RTE  Ta8y,08
TABEGRMERy, HTOR.

19913 gmadse &R0 03> Fo0REBOZNTTY, LBTHRA.
0BT DR 239,088 QNG TIOREMYRY, WO,

8003, FTFOT BWa0NT FRONPTY, WR0R.

[ Turn over



Code No. 22 4

TN — 9

V. o 29nSned, cnanats S8R S3Nen De0deonis, TOSED weEned),
POZ0N 2x5=10

39) 3R BT ITEE WA W RIONERY, WA PQLI 00Ty, &8, o :

b VoLl 7o 125 LER IMR BLR

S5 & &P | 65 S[RENE | 60/1000 3, 65%

40) 0BT CIRNRYTWIETH B2, 5,S, RVOONNTTY VRINE TPos BIONT Red =es,
Tk,

41) @ R EAUOE %05 REOR SUT TT0INER) weh  F-CeaTaes

WY, CedR ¢
328,53 7000, 78 @?z;:;% “J’)az”s

WR, TR 22
Beog, o3RewTe 333, 18
evinleaiviciofovis ) 16
08,50 5%, 14
Do, Rt geots, 307303 T 12
RH0D FI 07
BOTYEYS [WeB RBY, TN Beor: 06
o)

0300233030 TR 05




5 Code No. 22

( English Version )

Note : i) Write the question numbers legibly in the margin.

ii) Answer for a question should be continuous.

PART - A

Answer the following questions in one sentence each : 10x 1 =10

1.

Give the meaning of the term ‘sustainable development’.

State the meaning of unemployment.

What are multipurpose irrigation projects ?

Define small scale industry.

What is meant by women empowerment ?

Expand B.S.N.L.

Mention the basic principle of Co-operation.

What is Foreign Exchange Reserves ?

State the meaning of public debt.

10. Who is the present Chairman of National Planning Commission ?
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II1.

III.

PART - B

Answer any ten of the following questions in about four sentences each :

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

10 x 2 = 20
What is secondary data ? Name its two sources.
State the meaning of literacy rate. How is it measured ?
Mention four effects of soil erosion.

What is meant by public distribution system ? Mention its two
defects.

How are the manufacturing industries different from service

industries ?
Distinguish between Money wage and Real wage.

State the meaning of Social Security. Mention any two social security

measures.
List the important harbours of India.

Bring out the differences between Money Market and Call Money
Market.

State the reforms in air transportation in India.
Write four objectives of World Trade Organisation.

What is Balance of Payments ? Name its two accounts.

PART - C

Answer any eight of the following questions in about 15 sentences each :

23.

8 x5 =40

State the types of Bar diagram. Draw a bar diagram by using the

following data :

Census Year 1951 | 1961 | 1971 | 1981 | 1991 | 2001

Density of Population | 117 142 177 216 278 324
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Differentiate between Economic Growth and Economic Development.
Write a note on the occupational distribution of population in India.
State the meaning water conservation. Explain its various measures.
Describe the pre-harvest technology adopted in Indian Agriculture.

What are labour reforms ? State the recommendations of 2nd

National Commission on Labour.

Examine the two Socio-Economic Status of Women Labour in India.
Analyse the non-conventional sources of energy.

Discuss the composition of India’s imports.

State the export-promotion measures undertaken by the Govt. of

India.
What is Fiscal Policy ? Write a note on the Fiscal Sector reforms.

State the formation and functions of the State Planning Board.

PART - D

Answer any two of the following questions in about 40 sentences each :

35.

36.

37.

38.

2 x 10 =20

Explain the National Programmes of Employment Generation and

Poverty Alleviation in India.
Elucidate the strategy for Industrial Development of 1991.
Explain the various functions of Reserve Bank of India.

Explain the sources of revenue of the Central Government.
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PART - E
V. Answer any two of the following questions in about 15 sentences each :
2x5=10
39. Calculate PQLI by using the given actual values :
Indicators LER IMR BLR
Actual values 65 Years 60 per 1000 65%

40. List any 10 Railway zones of India with their Headquarters.

41. Draw a pie-diagram by using the following data of Central Govt.

Expenditure :

Items of Expenditure

Proposed Expenditure

(in paise)
Interest Payments 22
Central Plan Expenditure 18
Non-Plan Expenditure 16
Defence Expenditure 14
Share to State Govt. in Central Taxes 12
Subsidies 07
Central Assistance to UT’s and States 06
Non-Plan Assistance 05




